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@ Sample Size NL= 20.
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Sxx =12.030 5&3%: e S8 S'xcj= - 0-L 10

) Product moment correlation -

= Sx\d
\/S'DCJC S&jij\
f= -0.-410,

-/anaox IoL»CtQ’\
= - 02358113

(=l + 10 B

b) Some wealk r\eaat\'ﬁ corrfelarion
between wicdth and thiclcness OF

lengt+hs of Steel.
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.(QQ) (a) () mede=23 asit hos thehighest
pr@q/ueh cy .

(i) Median:  135+1 136

e —— = 3&“’\ UCLLLk&_
2 Pl

Yedian (88“’1 ua{mo,} = 2—2 |

——

IGR: L& = IF35+) 136 _ Lot

Ly G
=0

L_\-

x 3 = 1232Unc Valine
= 23

IGR.= VQ - LR = 923-90 =13

H

(b) ES*'lMCUQCQ mean >SC = 21_—"_\ = 60‘0206
Zr 135
= 2.3

Standard clevation= G-3%
from calcudator -
usmq nmid poin ks



¢S Himated

(& Mean from Royat maw = 22.3

private courier © estimareal mean = X80 - |.6.
| 5

Mean = 22.3 + 1.6 = 23.19.



@ b = Sxy andl a = 9 - b;c
7 e o o8

o = L. (698

i

G. | F+O6 tiem calewdator:

bl L 23|

Y= L. 170 + 2.2 F x.

{b) See gvap"\
= 10 = Al . §F8
sc = 50 b= | 13- 508
S = S 3: |63 -2

(C) (L) LS@@ afa_r:)h-
(@ See 3:@@’"\ Y pom'/: ohere poth /[mpb cntersect ..

Watzs tempe ratare. = 15

(L(Q&) At dow temperatiucs (below 2% ocﬁ N Y
of Scl B disoloes than Solt AL

The amount- OF Salt that clissolues (NCredses
More f'a/oac//y fc-r 7[-2 (‘/q(yh@/ 5,@@’
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(Q4) (=) v praia)le
(o L+O 646
= 0-303
Gl Pimza )= RSN YW RE 1)
el [ = 7 O. 8L0
6 L0 | ,
(«l) P(B=3 L T22)= 3L +99+16 _ 18]
6 LG G uo
= 0.299

N Pz [T=2) = PB &3 X T=2)
PlT=12)
= T 6+
e




(&) ?(anbw :P(a\ x?(kﬂ

L two ewents are (ndepenctent

P(B* 3 9%
29 0

P(T=22) = 563

—

6HO

;%E>:3r\7752\: EE} #;fﬁi 563
6UO 320 LG
Q@299 # O .27

() P(2LTn3TnatTIR=3)

o VI T
qu 93 199

= 23T C .015%6
R |

There aue different ways to cheose the houses
but each wud (3\,v'e the Same ansuoey
Oof O-0l586

O-.01586 X = 0095916
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@) W ~AN(2.%5,0.15%)
() P({w<28)

|
|
|
|
|
w. 235 1.8

0.5 "3

P(Z 73 0‘35) = 062930 [iom tables

T D(w>25)

-

w_. | 1252
| Z ~ 4+ ) 0?'5‘09- 15
O-15
?/Z>—'-é'ﬂ: P/z <|ce,:t') = -1 .6%.

= _0O- 96251} .
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X 5.1 6-25'5-3
FRPT S FET
S1=16-15 02}75‘ \ 53 -5 15
o-Li T T 111 -2

Y= 40,25\ — P(Z < -Oe“:FS)
_ Plz<o.25) — /{ LPi(= <0-75\)
- 0-5983] ~(0-19333)

T 0.598F )V - 0-22663
E 10 [AF20X
=SS0 (3°d°p>

(LL') Louir 5](8 bcx_(}s 'S Selecied
D{s.ilec X <6-3) = 0:337
p/o out Of 4) = Cl = Oengj i

= O |5RL,
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(6))p ~ B (30, 0-13)
P(P=2) :K”) (0-12)2 (1-0.13)%

2

- O- 1489

(id) p= 022 +0-i3 = 035
RUP&B(SG/O-gls\
P(ROP >\ = | = P(RuP< 10O)

I+ Qe BOTR
= Oe 449U YL

m

(i) G~ B (30,0.20)
P(5< G <10)
P(5s6) = | = P(Gsu) = ©.2559
P(G si0) = 0-97uy

O q:]—‘-l»Ur T Oo 2562

= 0741972
o
(o) ﬂ:_looo 2 mean = np
P = 100 x0.22

Ho= i 28,
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Cil(.')(l)proport:lc)ﬂ of ed papel clipPs IS 8ic:c1+c«r( than0-272.

Re']ec\— this claum as +the Means. cve
Simdle

(2) Jumbo Packets Ao Not contawn rand om somples.
Variance (Ciom above)= 13 16

Sd = VJVitie = L4 oilyr

AT L4 1] standard deviations

are Similar

ﬂ“‘)ere@orc reded—- the c\gwh that not

ranclom sampeles.
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bottle Standard dleviarion = +9 m L
= O ORI
n <= 36 [@1.80 (ttres (n total.
| 2 bottles contaned 1ess than 5 Lies
(0\5 Samplemean X = |81 .. 8O

=1 by OH
36 i

wsegthe X~ (5.05 , 0. OF5*
Central dimit ! A

Ehearem

98%. confidence Interval

=

. \5/\0 987 e multiplier for 2 (2 Facts) - 03263

5..06 2. 39633 0075
J36

= (6.02, 5.08)

UD) U\ meun volume exceeds 2 - ditie boitle

Accept this Claim as  Confidence INtevual for the Meon
exceeds 5 Aitres i Fo( Q&8%c of botrtles mean

dies petween 5.02 and 5.0&

(2) ({Ove Of bottles convaus Less Han S {ibes .

0% =_ 0. 0 (oaNaEe™ B2 592 antow esihan 5

Oo 10 #0722 reject ¢ laumn



(c\ I made wse of the central Adumit theorem
tn part [OA be cause the vwolume pofF The |hieach
was not norma,u,y disbnbuked but the
Sample. Si1ze was CJ{eC\t €nougn (% 20) TG
Malte Use of the CLT,



